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K IR B 10. 00| FA % 50 500 1, 404 1, 361 1, 296
X H D e E 12. 00 | #H%f 812 9, 744 1,944 1,118 11
F 9 NAEL w5 4. 00| FH%f 16 64| 2,160| 2,005| 1,944
H % o 3. 00| FHxf 161 483 1,836| 1,565 1,296
i A ] 1L 1. 00| FHxf 140 140 864 644 432
&= | 5000 kx| 3| 50 | 2,700
HOX {r 4. 00| AR} 10 401 1,512 1,274 1,080
A w5 2. 00 | FH %t 176 3521 1,188 1,011 540
EEL w5 4. 00| fHxf 166 664| 1,242 1,041 864
[ I\ w5 5. 00| FH%f 694 3,470 1,890 1,592 875
~F =k Ak L 0. 20 | fHxf 210 42 119 116 108
= 1 | 3.00 fIxk| 150 45 1,944 1,930| 1,836
IR Ak L 2. 00| FHxf 10 20| 3,780| 3,240| 1,188

H 3 (= 5. 00 | FH%t 30 150 2, 376
FE e JEE I 10. 00| AHxf 155 1,550| 3,564| 3,390| 3,024
A= 4 AL E 10. 00| AHxf 177 1,770 1,998| 1,756| 1,566
B OF g, 10. 00| AHxf 115 1,150 2,916| 2,212| 1,836
£ A AbifEE 20. 00 | #H >t 215 4,300 5,616 5,361 3,888
% % | 10.00 FRRE| 75| 750 3,726 3,163 2,916
LA R L 10. 00 | #H%f 432 4,320 3,672 3,032 1,836
==l H A & ] 4. 00| FHxf 709 2,836 2,322| 1,593 1,377
Tuyal— {r 6. 00 | FH%f 174 1,044| 3,456 2,765 1,728
ENIE 6.00| k%t | 97| 582| 3,024 2,649 1,620
AEHEE w5 0. 10| #H%f | 5,300 530 162 121 65
ZDEH E % 0. 20| FA%F 600 120 70 57 33
LU 5 % 0. 20| FA%F 150 30 85 59 21
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38 w5 10. 00 | #H%F 72 7201 3,996 2,703 972
Cimigii) g, 10. 00 | #H%f 383 3,830 2,592| 2,586 2,484
5 U iR 10. 00| AHxf 40 400 3,996| 3,996| 3,564
Yafa— iR 10. 00| AHxf 5 50| 5,184| 5,184| 4,968
T AL — = R 0. 27 | ¥} 784 212 356 273 162
HEFH D & [ 0. 27 | ¥H %} 3, 622 979 507 434 356
S 5 0.25( fHxt [ 12,257 3, 069 486 366 270
IRBHD Y £ I 0. 25| FH*} 1,761 442 432 326 270




